Admission Tech

60. The duration of the Korean War was

75. Who was the last Hindu ruler of Bengal?

A. 2 years B. 3 years A. Vijay Sen B. Lakshman Sen
C. 8 years D. 15 years C. Hemanta Sen D. Ballal Sen
61. Cayman Islands are located in 76. Article .......... of the Constitution deals with
A. Caribbean Sea B. Micronesia the issues of foreign policy of Bangladesh.
C. Mediterranean Sea D. Polynesia A. 4A. B.25 C. 1410) D 101
62. FARC guerrillas are active in 77. The climate of Bangladesh is mainly
A. Bolivia B. El Salvador A. qumd continental B. Tund_ra
C. Nicaragua D. Colombia C. Arid D. Tropical ,
63. ‘Liberty, equality, fraternity’ was the 78. gf’ﬁ;r:;‘:sil;ggely see‘;a‘_‘;g:‘;lhmh district?
famous slogan of il darban
A. Freanch Revolution C. Dinajpur D. Sylhet .
R . 79. Who was tqhe first Chess Grand Master in
C. Bolshevik Revolution imll\}'l; A;/lla' hed
D. Anti-racial Revolution - \N1az Viurs o B
s . s B. Mollah Abdullah Al-Rakib
64. Where is ‘Machu Picchu’? .
. . . C. Reefat Bin Sattar
A. Mexico B.Peru C. Chile D. Bolivia .
65. ANTARA is th fth f D. G. M. ZiaurRahman
: Ir 1S I ¢ nanée ?. 4 et ag;e n<l:y o 80. 7™ Five Year Plan of Bangladesh will start from
A.lran  B.Iraq  C.Indonesia D.ltaly 'A.2015 B.2016 C.2017  D. 2018
66. In——, Bangladesh first participated in the Answer Keys: 1.B2.D3.C4B 5.C6B 7.A8B9.C
UN Peackeeping Operation? 10.B 11.B 12.B 13.C 14.A 15.C 16.D 17.B 18D
A. 1986 B. 1988 C. 1990 D. 1999 19.A 20.C 21.B 22.D 23.A 24.D 25.A 26.B 27.B
67. How many countries share international %gg ggi ;gi i})?& 121:: 132% i‘;g iig igg
1 2 . " . . g 5 5 5 5
:"{ier w'tgga“gladces';‘ . 46.D 47.C 48.C 49B 50.B 51.C 52.A 53B 54D
68. Wh th .M . ’ ’ formed? 55.C 56.D 57.B 58.A 59.A 60.B 61.A 62.D 63.A
enwastise Mujfheiagar governinent amed: 64.C 65.C 66.B 67.B 68.A 69.B 70.B 71.C 72.A
A. Aprl 10,1971 B. April 17,1971 73.A 74.A 75B 76 B 77.D 78.A 79.A 80.B
C.March 26, 1971 D. Derember 16, 1971
69. Which part of Bangladesh Constituton deals . , .
with the fundamental rights of the citizens? , wmm ﬁ"ﬁﬁﬁﬂ?ﬁl
A Il B.Ill C.IV D.VI RS o3
70. The exchange of enclaves between ST TE AR G ”‘ l? 2 R054-2059
Bangladesh and India comes into effect on E’ ¥®f5 Set-2
A. July 31,2015 B. August 1, 2015 R Bifvtw wgaw
C. November 1, 2015 D. June 1, 2015 English (01-30)
71. The lgtest formed divisioq of Bangladeshis | Resd the passage and answer the questions (1-5) based
A. Faridpur B. Comilla on information cortained or implied in the passage.
C. Mymensingh  D. Rangpur In 1955, Maurice Duverger published The Political
72. Which political party did not belong to the | Role of Won%en', the 'ﬁrstl bel a\{lorah_st, multinational
Unitc;d Front in the provincial election of ﬁgemg?;%%rlll odat;voggns e&togtapfclgggg}o?ﬁ:‘.’gué;
19547 analyzed women's pattemns of voting, political candidacy,
A. Awami League B. Krishok Proja Party and ﬁplgtlitical activism in four European countries duning
C.Nezame Islam  D. National Awami Party tfli]ed' ha]fofﬁlt:ht;mueth cmnuyielguvergef S hr:t‘eaig;}sl
. . - ndings were women voted somew]
73. Which mgms.try has the :espons1blllty to frequently than men (the difference narrowing the
control price in Bangladesh? longer women had the vote) and were slightly more
A. Commerce B. Planning conservative.
C. Finance D. Home Affairs Duverger's work set an early standard for the sensitive
74. Which one is the oldest archaeological site in | analysis of women's electoral activiles. Moreover, to
Bangladesh? ' Duverger's credit, he placed his findings in the context
A.Mahsthangarh ~ B. Somapura Mahawhara of many of the historical processes that had shaped
C. Sat Gumbaz Mosque D. Panam City these activities. However, since these contexts have
b :
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changed over time, Duverger's approach has proved
more durable than is actual findings. In addition,
Duverger's discussion of his findings was hampered by
his failure to consider certain specific factors important
to women's electoral participation at the time he
collected his data; the influence of political regimes, the

effects of economic factors, and the ramifications of

political and social relations between women and men.
Given this failure, Duverger's study foreshadowed the
enduring limitations of the behavioralist approach to the
multinational study of women's political participation.

01.

02.

03.

04.

0s.

The author inpties that Duverger’s actual findings are-

A. limited because they focus on only four countries

B. inaccurate in their description of the four
countries in the early 1950s

C. out-of date in that they are inapplicable in

the four countries today
D. biased by Duverger's political beliefs
Which of the following characteristics of a
country is most clearly an example of a
factor that Duverger, as described in the
passage, failed to consider in his study?
A. A large population _
B. A predominantly Protestant population
C. A predominantly urban population
D. A one-party govemment
The passage implies that, in comparing four
European countries, Duverger found that the
voting rates of women and men were most
different in the country in which women-
A. were most politically active
B. ran for office most often
C. had possessed the right to vote for the shortest time
D. had the most egalitarian relations with men
The author implies that some behavioralist
research involving the multinational study of
women's_political participation that followed
Duverger's study did which of the following?
A. 1gnored Duverger's approach
B. Suffered from faults similar to those in Duverger's study
C. focused on political activism
D. Focused on the influences of political regimes
The primary purpose of the passage is to-
A. evaluate a research study
B. report new research findings
C. Summarize the history of a research area
D. Reinterpret old research findings

06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

The prediction of greatly decreased
revenue next year has frightened law
makers into budget reduction.

A. encouraging .............. sizable '

B. convincing ................ minute

C. alarming..................... negligible

You remarks spoil the effect of your
speech; try not to stray from your subject.
A. digressive B. enigmatic

C. persistent D. derogatory
Until my brother went to Sri Lanka last
year, he outside of Bangladesh.

A. has never been B. wasn't

C. won't be D. had never been
Find out the related pair of words (9:11):
PORTFOLIO : DOCUMENTS

A. Drama : Acts *B. Sticks : Drums

C. Government : Policies D. Album : Photographs
LEGEND : MAP

A. Glossary : Text  B. Volume : Manual

C. Issue : Print D. Career : Biography
CURIOSITY : KNOW

A. Temptation : Conguer B. Starvation : Eat
C. Humor : Laugh D. Wanderlust : Travel
What is the appropriate meaning of the
word 'PROPEL'?

A. Drive B. Burst C. Jettison D. Acclimatize
The opposite of the word 'GRATIFY" is-

A. Displease B. Argue C. Waste D. Gratitude

Be good me, for it went you.
A.for,to B.to,for C.at,to D. at, against
People read — a queer variety — reasons.
A.to,for B.for,to C.in,for D. for, of
The store manager waited customers
all morning.

A. of B. for C.at D.on

There is no use —— going there at this
time.

A. at B.of C.on D. off

Select the grammatically correct sentence.
A. She had faith and hopes for the future.

B. She had faith and hopes in the future.

C. She had faith in and hopes for the future.
D. None
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19.

20.

21.

22.

23.

24,

25.

26.

27.

28.
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Select the grammatically correct sentence.

A You are not working hard so your success is
out of a question.

B. You are not working hard so your success is
out of the question

C. You are not working hard so your success is
out of question.

D. You are not working hard so our success is
not out of the question.

Select the correctly punctuated sentence.

A. That tall man, Pauls granded, is this month's winner

B. That tall man, Paul's grandad, is this months winrter.

C. That tall man Paul's grandad is this molnth's winner.

D. That tall man, Paul's grandad, is this month's winner.

Find out the correctly spelled word.

A.Rhythym B.Rythm C. Rhethm. D. Rhythm

Which word .is plural in form?

A. Medium B. Media

C. Phenomenon D. Basis

My uncle sees me every now and again.

A. daily B. rarely

C. occasionally D. frequently

'At one's fingertips' means-

A. To take revenge B. Matter of shame

C. Complete knowledge D. None

The new economic policy is likelv to run

into rough weather.

A. makes things difficult B. create problems

C. encounter difficulties  D. confuse matters

Rakib would certainly have attended the

proceedings .

A. if he didn't get a flat tire

B. if the flat tire hadn't happened

C. had he not had a flat tire

D. None

Although we often use 'speed' and 'velocity'

interchangeably, in a technical sense, speed

is not always 5

A. alike B. the same as

C. similar D. None

If it is the present administration whom we

should blame for the economic crisis, the

first step toward a solution is to reject the

incumbent at the polls this November.

A. whom we should blame

B. whom is to blame

C. who we should blame

D. who should be blamed

29.

30.

31.

32.

33.

34.

3S.

36.

37.

38.

39.

40.

41.

Shahzain had already swum five laps when
I jumped into the pool.

A. had already swam five laps when I

B. had already swum five laps when I

C. already swam five laps when I

D. already swam five laps when I

Neither the earth quake or the subsequent fire
was able to destroy the spirit of the city dwellers.
A. or the subsequent fire were

B. nor the subsequent fire was

C. nor the subsequent fire were

D. or the subsequent fire was

D. or the subsequent fire was

=T (31-40)
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Business based General Knowledge (41-50):
The name of the currency of 'Indonesia’ is-
A.Rial B.Rupe C.Rupiah D.Ringgit -
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42,

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

A. Dhaka

The full form of 'GATT" is-

A. General Agreement on Tariffs and Trade

B. General Agreement on Trade and Tariffs

C. General Agreement on Tax and Tariffs

D. General Agreement on Tariffs and Tax

Which one of the following organizations

provide 'Soft Loan Window' facility?

A.IMF B.IDA C.EU D. IBRD

issues 'Five (5) Taka Note' of Bangladesh.

A. Sonali Bank

B. Bangladesh Bank

C. Ministry of Information

D. Ministry of Finance

At present, who is the president of

International Monetary Fund?

A. H.E. Dr. Bandar M. H. Hajjar

B. Christine Lagarde

C. Jim Yong Kim

D. Robert Joyalic

Which bank first introduces the Telephone

Banking Service in Bangladesh?

A. Dutch Bangla Bank Limited

B. Standard Chartered Bank Limited

C. Hongkong and Shanghai Banking Corporation

D. Brac Bank

Which company produces 'Savlon'?

A. Incepta Pharmaceuticals

B. Square Pharmaceuticals

C. Unilever BD Ltd.

D. Advanced Chemical Industries

Where is the Headquarter of BIMSTEC?

B. Kathmundu

C. New Delhi D. London

Mobile phone operator 'Teletalk' started its

operations in

A.2000 B.2002 C.2004 - D.2006

Which country is the largest importer of

Bangladeshi RMG products?

A.UK B.India C.USA D. Germany
Mathematics (51-80)

Price of a product is denoted by P. If price

is decreased by 20% and increased one

month later by 60% of existing price, what

is the new price expressed in terms of P?

A.1.60P B.128P C.1.40P D.1.38P

If a+b+c= 15 and a’+b*+c? = 83, what is the

value of ab+bc+ca?

A. 81 B. 71

C.61 D. 51

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

Which one -of the following options is
equivalent to 3 log 2Hog 5?

A.log 11 B.log40 C.log13 D. None
Which of the following expressions has the

largest value?
A. (34)13 B 330 +330 +330
C.4(3% D. (3'%)'*

If u>t, r>q, s>t, and tr, which of the

following must be true?

iu>s i.sq iii.u>r
A.ionly B. ii only
C. iii only D. ii and iii

B can work thrice as much as A can do in a
day. If they together can do 4/1S parts of a
work in 10 days, in how many days will B
finish the work alone? '

A.60days B.50days C. 15 daysD. 5 days
Think of a number and then .double the
number. Add 6 and multiply the result by
10. Now divide the result by 20, then
subtract the number you first thought out.
What is the result?

A2 B.3 C.4 D.5

X will be half as old as Y in 3 years. X will
also be one-third as old as Z in S years. If Z
is 15 years older than Y, how old is X?

A.6 B.7 C.8 D.9

The population of grasshoppers doubles in
a particular field each year. Approximately
how many years will it take the population
to grow from 2,000 grasshoppers to
1,000,000 or more?

A.8 B.9 . C. 10 D. 11

A giant wheel makes 40 rotations to cover a
distance of 1-75 kilometer. What is the
radius of the wheel?

A.5963 B.6.963 C.3.963 D.7.963
The average temperature on Monday,
Tuesday, & Wednesday was 84° and for
Tuesday, Wednesday and Thursday was
87°. If the temperature on Monday was
91°, find the temperature on Thursday?
A.100° B.97° C.93° D. None
How many unique subsets of 2 components
can be made from the set A= {a, b, c, d}?
A4 B.5 C.8 D.6

+ When one card is selected at random from

a pack of 52 playing cards, the number of
possible selection is-

A.104 B.52 C.520 D. 640

2o
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64.

65.

67.

69.

70.

71.
72.

73.

74.

75.

76.
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A special lottery is to be held to select the
student who will live in the only deluxe
room in a dormitory. There are 100
seniors, 150 juniors, and 200 sophomores
who applied. Each senior's name is placed
in the lottery 3 times; each junior's name, 2
times; and each sophomore's name, 1 time.
What is the probability that a senior's
name will be chosen?

A.1/8 B.3/8 C.4/8 D. 2/8

In three years, Jerin will be three times as old

- as her daughter. Six years ago, her age was

her Daughter's age squared. How old is Jerin?

A.18  B.36 C. 42 D. 45
Solve it: 7x2+(7+3x(5—2))-:4x2—"
A.20 B.2l C.2 D.23

For the positive numbers, n, n+1, n+2, n+4,
and n+8, the mean is how much greater
than the median?

A0 B.1 C.n+1 D.nt2 .
Find the two-hundredth term, 0200, of the
sequence 2,5, 8,11, —.
A.399 B.499 C.599 D. 699

A car travels from Al's house 10 miles south to
Brad's house and then 6 miles east. What is
the distance from Al's house to Bari's house?

a2V34 B2V c4 D3

If the ratio of men to women in a class is 3:5
and the class contains 24 people, how many
additional men would have to enroll to make
the ratio of mentowomen1:1?

A3 B.6 C.4 D.12

What is 4,563,021+105 rounded to the nearest
whole number?

A. 46 B.5 C.0 D. 456

The sum of the non-prime numbers between
40 and 50, non-inclusive, is
A.131 B.176 C.274 D. 405
Mahmud ate 1/4 of a whole pizza, and Debu
ate 1/5 of the remaining portion. What
fraction of the pizza was not eaten?

A. 1120 B.920 C.3/20 D. 3/5
Himel has a goal to bench press 220 pounds.
When he started working out, Himel was able
to lift 150 pounds. He has currently increased
that amount by 20%. What percent of his
current lifting amount must Mike increase
to reach his goal of 220 pounds?

A.22.50% B.22% C.22.22% D.20.22%
16% of s equals to. 10% of t equals 40.
What is the value of s — t?

A.24,000 B.21,000 C.30,000 D.22,000
Observe the following information and find
the correct answer?

1. loga(m log,m

ii. 2* =16 and log, 16 = 4 are synonymous

iii. log,(m + n) = log,m+log,n

A.iandii B. i and iii
C.iandiii D.1i, ii and iii

77.

78.

79.

80.

ITW: S Tt

1.

2.

3.

4.

There are 30 students in a class. Among
them, 8 students are learning both English
and French. A total of 18 students are
learning English. If every student is
learning at least one language, how many
students are learning French in total?
A. 30 B. 20 C.40 D. 10
X={7,-3,2,1,5,8} and Y = {-8, -3, -1,
2, 5, 8, 9}. Which of the following is equal
to the sum of the elements of X N Y?
A 4 B.6 C. 12 D. 16
If c+d= 11 and both ¢ and d are positive
integers, which of the following is a possible
value for 5¢+8d?
A.55 B. 61 C.83 D. 69
A man has some hens and cows. If the
number of heads be 48 and the number of
feet equals 140, then the number of hens
will be b
A.23 B.24 C.25 D. 26
Answer Key: 1B2.B3.D4.C5.A6.C7.A8.D9.A
10.A11.D12.A13.A 14A 15D 16B17.B18.C19.C
20D 21.B22B 23.C 24.C 25C 26.C 27B 28.A 29B
30B31.B32.D33.B34. A35.B36.B37. A38. B
39.A 40.C 41.C42. A43.B44.D45.B46. A47.D
48. A 49.C 50.C 51.B 52.B S3.C 54.C 55.D 56.B
57.B 58.C 59.B 60.B 61.A 62.D 63.B 64.B 65.C
66.* 67.B 68.C 69.A 70.B 71.A 72.C 73.D 74.C
75B76A77B78C79B80D

T R_RwmiEg
Rf¥q e sfE-Astoss
formiad: 2035-3
e Bifve w7
2efA5: C &6 @3re; 1
Aefa : vo
G35 @A AW fFrwt =R &y
X' s (wRE)
it
o (BT TS FITSR Trw=y TA-
A. ot firer ot B. 9% At
C. @R T4 D. TR 31
A=l e F5-116 2
A. @ Qe B. 318! 7o TN
C. 271 333 D. Af&T5H S@IMGR
VIR O TENINLGT WA of e BOR ' Tont
1e5t (W +4fRFRR frem?
B. sftafes «fafgfs

A. e RS
C. enafsa «fafzfs D. i3z *fRfYfs
B. v+ fom

D. va+foa

A. v+
C. vep + o
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